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1 After melting four metallic spheres of diameter 15 c¢m in a factory, wire of diameter of the cross-
section of 0.2 cm was drawn. What would be the length of wire so obtained?

et BreE™ o 15 cm =@ a1 9 4Tfeads el @i frEersT 0.2 cm i a9 & a1 i T qre ST 4|

Al ST T Q1Y B WIS 41 B 7
(A) 1,950 m (B) 2,040 m
(C) 2,170 m (D) 2,250 m

(E) Question not attempted / STTANT T

2 Nine years ago, father was nine times as old as his son and ten years hence, he will be two years
more than twice the age of his son then. What are their present ages?

(A) Father =32 yr, Son=9yr (B) Father =33 yr, Son= 10 yr
(C) Father=34yr, Son=11yr (D) Father =36 yr, Son= 12 yr
(E) Question not attempted

= I g T @t Ty, SHeh A Wi g H A1 A1 Y, 8 39 9y 518 U @t g S|eh gF i o7y o &l A
Y T a¥ AT B | ITh! AT TG FAT S 7

(A) Frar=32ad, ga=9ad (B) frar=33ad, ga =10 ad
(C) Frar=34af, ga=11a9% (D) frar=36a¥, ga =12 a9
(E) orgaiaued
3 Suresh lent a sum of money on compound interest in such a way that it amounted to three times in

4 years. For how much time should he invest his money so that he gets back an amount which is
9 times of the sum of money lent by him?

(A) 8yrs (B) O9yrs
(C) 10yrs (D) 12yrs
(E) Question not attempted

YR THIg TS U FB U 36 TR SR 1, 76 a8 4 a6 o T T[1 81 < | 38 fohae wor & T st
T 1 FTAST & MY b I8 IHb ST U &1 5 TR BT 9 T[T UTt & 7

(A) 8a (B) 9o
(C) 10 a9 D) 12a9
(E) or7aRausd

18 @ O 2 P.T.O.



4 A shopkeeper marks the price of three identical articles, first, 60% above the Cost Price; second,
45% above the Cost Price and the third, 40% above the cost price. If he gives discount of 25% on
first article, 20 % on the second article and 15% on the third one, what is his overall profit percentage?

T GHMET A T TR B e, TET 68 7o ° 60% S, TH 5 o ¥ 45% oTfedn e ara &a
T T 40% 3Tt Sifehd Ham T 1 AT T Taell a%g UT 25% %, T I T 20% Bl 7T ey a5g 9X 15%
W BZ I &, AN SAHT Fl AH TS F1 8 7

2

(A) 16§% (B) 17.5%
1

©) 185% D) 19%

(E) Question not attempted / STTANT T

rd
5 A group of tourists from Australia visited New Delhi for sight-seeing. On a particular day, 3 of

them visited Qutub Minar, four times the square root of the total number of tourists visited Red Fort
and the remaining 18 tourists were seen walking on the Kartavya Path near the India Gate. What is
the total number of tourists who went out for sight-seeing on a particular day?

ST et g e g o e 1 o e ot e 8 . g e e ¥,
Tl Tl FEAT % A B AT AT I (bl TA & AT 99 18 Tfedh 3$am e & Toiard deied 9o X Zead
feam g oa fafite faT wies 5g g feae weies see g ?

(A) 8l B) 75

(C) 69 (D) 64

(E) Question not attempted / STTANT T

6 A man travels from point A in one state to point B in another state by a train moving at a speed of
90 kmph and he returns to the starting point A by another train moving at a speed of 72 kmph. What
was the average speed of the trains for the whole journey.

o e 90 kmph &1 a0 & TH T & A g ¥ gEX U9 % B 63 0% @S ¥ AN BT € S 8
72 kmph @ T & 377 TAMS! T JESA f6g A U aroe 1t ¥ | €yt ar & forg Yl & sivera w1 st
EAE

(A). 84 kmph (B) 82.5 kmph

(C) 81 kmph (D) 80 kmph

(B) " Question not attempted / STANT T

18 @ O 3 P.T.O.



7 A sum of Rs. 81,270 is divided among P, Q and R in such a manner that if Rs.75, Rs. 90 and Rs.105
are subtracted from their amount respectively, the ratio of their amount becomes 5: 6: 7. How much

amount does P receive?
(A) Rs. 24,500 (B) Rs. 22,575
(C) Rs. 20,500 (D) Rs. 18,750

(E) Question not attempted

%. 81,270 &l P, Q 3fT R &% weg 39 wabX farnifora feman wiran ® fob afy Iant it & swsn: €. 75, . 90 8K
%. 105 = Sl & @ Sl U &1 ST S: 6: 7 81 <71 &1 P oy fearit iy vt g & 7

(A) ®.24,500 (B) ®.22,575
(C) ®.20,500 (D) ®.18,750
(E) orgaiaued

8 Ina AABC, ZC =(9/4) £B =(3/2) (LA + 4£B). Find the measure of the angles.
AABC ¥ ZC =(9/4) ZB = (3/2) (LA +£B) %, G %Il &1 41 571d BT |
(A ZA=18° £LB=36° £LC=126° B) ZLA=20° £B=40° £C=120°
(C) ZLA=22° /B=44°, LC=114° (D) ZLA=24° /B=48° £C=108°

(E) Question not attempted / ST T

9 The average score of marks of students of classes XI-A and XI-B in Mathematics is 86.5. The
average score of marks in mathematics of students in Class XI-A is 91 and in Class XI-B is 81.
What is the ratio of the number of students of Class XI-A and Class XI-B?

Tfora ® hetm X1-A afix XI-B @ faentiray & ur sl o1 oi|a 86.5 ¥ | it & wenm XI-A @ faentiay & ura
3 T frEa 91 ofiX &etr X1-B & et & wre siei @1 offad 81 % | wetm XI-A ofix @etr X1-B & ferenfa
%I HEAT I ST F1 S 7

(A 1411 B) 13:10
(C) "11:9 D) 10:7

(E) Question not attempted / STTANT T

18 @ O 4 P.T.O.



10

11

12

One contractor had undertaken a construction work. To complete the given job, he sought labour
comprising 24 men for 12 days for working 10 hours a day. But due to festival season, as the labour
had gone to their respective hometowns, he could get only 15 men and they too were willing to
work 8 hours a day. With this much labour, in how many days would he be able to complete the
same job?

(A) 20 days (B) 22 days

(C) 24 days (D) 26 days

(E) Question not attempted

T SHA B3 AT B ST HIT & | g 70 e &l gof w7 & Mo ufa i 10 @ s w1 37 12 fa &
T 24 gout i afafad foran S & | AieT el % ST ASE o T a9 911 &, Shall & wad 15 o
& et o1t ¥ ofR 3wt foT 8 w0 2 R AT TIEd 1 59 WG % Wil 9% $° B B feha faAl | Ul B4 ?

(A) 20 fe= (B) 22fa
(C) 24f= (D) 26Ff=
(E) orgaiaued

A dealer bought a six-seater Dining Table after getting successive discounts of 15% and 12%.
Thereafter, he spent 10% on transport, etc. and finally sold it for Rs. 24,169.75, thereby earning a
profit of 25%. What was the marked price of the Dining Table?

(A) Rs. 22,750 (B) "Rs. 23,500
(C) Rs. 25,100 (D) Rs. 26,750
(E) Question not attempted

forell ST 15 % ST 12 % %I e B2 U0 TH B8 WIS AT SEHMT Sad WUET | 36 96, ITT Uas oM
W 10% T o ofR oiaa: 30 8. 24,169.75 ° =1 i ofiX 25% w4 sttt foran | g S a1 siferd e
T a1 ?

(A) %.22,750 (B) %.23,500
(C) %.25,100 (D) %.26,750
(E) orafa usd

Water is flowing at the rate of 12 km per hour through a pipe of diameter 14 cm into a rectangular
tank which is 60 m long and 33 m wide. Find the time in which the level of water in the tank will
rise by 28 cm.

(A) 2hrs (B) 2.5hrs
(C) 3hrs (D) 3.5hrs
(E) Question not attempted

60 m &Y & 33 m A U SR ¢ ¥ 14 cm 9 I U129 ¥ 12 km i & 6 3T A S Yanfed &t &
¥ 9% 9T 3 BT, e 6 ¥ S| @1 WX 28 cm S Se|

(A). 2% (B) 25%C
(C) 3s¢ (D) 3.5%C
(E) - oT7aia e

18 @ O 5 P.T.O.



13

14

15

The compound interest on a certain sum for 3 years at 8% per annum is Rs. 1,94,784. What is the

9
simple interest on the 0 part of the sum for the same time but at a rate of interest per annum which

1
is 15 time the rate of interest per annum as applicable for compound interest?

(A) Rs.2,43,000 (B) Rs. 2,47,500
(C) Rs. 2,52,000 (D) Rs. 2,56,500
(E) Question not attempted

9
8% ! ATe X W 3 AW % Ty fopeit i WX =ehgis =t &. 1,94,784 5159 WHT % o AT U A STary

1
% foTq a1 aegfe = X & 15 AT & AT AT F1 B2

(A) %.2,43,000 (B) %.2,47,500
(C) %.2,52,000 (D) %.2,56,500
(E) orafa usd

A sum of Rs.1,48,000 was distributed among 4 employees namely Arun, Bipin, Chetan and Dheeraj
such that Bipin gets 20% more than Arun and Chetan gets an amount equal to 50% of the sum of
what Arun and Bipin get. If Dheeraj gets Rs. 40,618, what is the difference in the amounts received
by Bipin and Chetan?

(A) Rs. 2,860 (B) Rs. 3,020

(C) Rs. 3,254 (D) Rs. 3,440

(E) Question not attempted

. 1,48,000 @t €13 %I 4 Hean @l STEvT, TR, 9o ofiT diet o T femam mam | e it 1 srew
T 20% e U< 5T SR AT Bl ST ST A Bl T g5 THT & 50% F OET ART I g5 | A et
@l %. 40,618 U<t 5T, 1 R4 o < g1 wry i ¥ s #n e ?

(A) %.2,860 (B) ®.3,020
(€C) ®%.3,254 (D) =®.3,440
(E) orgaiaued

If 6 times the larger number is divided by the smaller number, we get 7 as quotient and 7 as remainder.
Also, if nine times the smaller number is divided by the larger number, we get 7 as the quotient and
21 as the remainder. What are the two numbers?

(A) 36and3l (B) 38and33

(C) 40 and 35 (D) 42 and 35

(E) Question not attempted

e g1 AT ® 6 AT B B el § faaiiora foran Siran &, @ &6 7 9ITha SfiX 7 STowhe U< B & | |0 &
gfe BT GEAT & 11 T[T HI o1 dea & fqamera foram St & @ 89 7 9T S 21 9% UT B § | 98 &
T B € 7

(A) 36 3T 31 (B) 38333
(C) 40 sf35 (D) 42335
(E) . oT7aia e

18 @ O 6 P.T.O.
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17

18

1
The present age of a father is four years more than 25 times the age of the son. Five years hence

father’s age will be 5 years more than twice the age of the son. What are the present ages of the
father and the son?

(A) Father =34 yrs, Son =12 yrs (B) Father =33 yrs, Son =11 yrs

(C) Father =32 yrs, Son =10 yrs (D) Father =31 yrs, Son =9 yrs

(E) Question not attempted

1
T &1 I oIy, O3 %l 8T & 25w%aﬂaﬁa®m%lﬁaaﬁaﬁﬁmaﬁm,gﬂﬁm%ﬁa‘rw
T 5 a9 atfees Bl | RIaT R g &1 I STy 3 i |

(A) Frar=34ad, ga=12 a9 (B) frar=33ad, ga=11a9
(C) Frar=32ad, ga=10ad (D) frar=31ad, g3 =9 a9
(E) orgaiaued

Anjali and Sanjana have some marbles with them. If Sanjana gives 15 marbles to Anjali, Anjali
will have 10 marbles less than twice the marbles with Sanjana. If Sanjana gives 40 marbles to
Anjali, Anjali will have 20 marbles more than three times the marbles with Sanjana. Find the
number of marbles with Anjali.

SToTelT i G 35 O P e | A G 15 Y STt Y 3 %, < atorelt 35 v wror 3 vt 5 S
10 & % 31 | AfE F1 40 S STl Bl A 5, AN ST b I EST1 o6 el ob i 1 & 20 e 3feres i |
SfSTell o T foha &l & 7

(A) 110 (B) 105

(C) 120 (D) 115

(E) Question not attempted / ST T

Rajender engages Sunil and Vijay to do some construction work in his office. Sunil is highly skilled

1
and is 3 5 times as good a workman as Vijay. Therefore, he is able to finish his work in 45 days less

than Vijay. In how many days they both working together, can finish the work?
(A) 26 days (B) 22 days

(C) 18 days (D) 14 days

(E) Question not attempted

1
TS A T ST H G o} foora &l g5 frmior & e | g #iel 9 & ok fasa & 35 T H
FHHHT 5| ZHT I8 faera ¥ 45 7 &9 a9 7 o701 &R qUf & o Haid ¢ | 98 31 Uob |1 st 1 ich

39 % Bl fehe famt ® ot &Y g B 7

(A)+.26 o (B) 22fa
(C) 18f= (D) 14f=
(E) - oT7aRa e

18 @ O 7 P.T.O.



Q. 19-21 : Fill in the blanks in the given sentence/paragraph logically using the appropriate set of words

from the four options given below the question.

19  There is much difficulty getting this place and it is not possible to reach

without the grace of God.

(A) in;to; here

(B) for; to;it

(C) to;into; it

(D) in; near; here

(E) Question not attempted

20 Nature is and unchangeable, and it is as to whether its hidden reasons and

are to man or not.

(A) relentless, indifferent, actions, understandable

(B) persistent, heartless, actions, comprehensible

(C) inexorable, apathetic, activities, explicable

(D) harsh, indifferent, actions, understandable

(E) Question not attempted

21 Despite being perceived as by all, the club members unanimously decided to

Arun, a skinny teenage with prominent , as the member of the year, so that the whole

affair would be to Arun’s father who was recuperating after a serious illness.

(A) useless, award, presence, helpful

(B) cruel, facilitate, nose, happy

(C) - uncooperative, reward, features, recuperative

(D) reckless, felicitate, eyes, soothing

(E) Question not attempted

18 @ O

8 P.T.O.



Q. 22-25 : Coding-Decoding

22

23

24

25

Q. 26-28 : Fill in the blank choosing correct answer from the options given below :

BLOCKED is to YOLXPVW as OZFMXS is to -

BLOCKED @& YOLXPVW feran s &, @ OZFMXS @1 @/ feram s ?
(A) RESULT (B) NAUGHT

(C) LAUNCH (D) LABOUR

(E) Question not attempted / STTANT T

USPL is to KMPT as LJGC is to -

USPL &l KMPT fér@n st & df LIGC @t @ feran s ?

(A) BDGK (B) CEHL
(C) GHU (D) QSUW
(E) Question not attempted / STTANT T

THEREFORE is to TEEOERFRH as HELICOPTER is to -

THEREFORE %1 TEEOERFRH feran wiran & 9t HELICOPTER @ @ feram simaem ?

(A) HEUCORETP (B) -HLCPERTOIE
(C) RETPOCILEH (D) RETPOCILHE

(E) Question not attempted / STTANT T

RATION is to RATNIO as TRIBAL is to -

RATION @ RATNIO feran sirar & @ TRIBAL @i @ feran s ?
(A) TIRLAB (B) TRIALB
(C) TIRLBA (D) TRILBA
(E) Question not attempted / SR T

26 ACEG:DFHJ:: QSUW :
(A) KMNP (B) MNPR
(C) TQST (D) TVXZ
(E) Question not attempted

27  kcaC : Cack : : XgmF ; ...
(A) EmgF (B) EgmX
(C) FmgX (D) GmeF
(E) Question not attempted

28 EGIK: FILO::FHIL: ...
(A)+.GIMP (B) GMIP
(C) JGMP (D) JGPM
(E) Question not attempted

18 @ O 9

P.T.O.



29

30

31

32

33

In a certain code, 247' means 'spread red carpet', '256' means 'dust one carpet' and '264' means
'one red carpet’. Which digit in that code means 'dust'?

e ffyaa ®ie o, '247 @1 a1ef 'spread red carpet!, '256' @1 a1} 'dust one carpet' 3 264" @1 e
'one red carpet' ¥ a1 SHI %I ¥ fha st &1 a7ef 'dust' M7

(A) 2 B) 3

) s (D) 6

(E) Question not attempted / STTANT T

In a certain code language, '123' means 'bright little boy', '145' means 'tall, big boy' and '637' means
'beautiful little flower'. Which digit in that code language means 'bright'?

e Tifyaa ®ie 9o o, '123" &1 eref 'bright little boy', '145' @1 atef 'tall, big boy' i '637' @1 e
'beautiful little flower' ¥ | @t SH @I w1 § {5 ofe @1 o1ef 'bright! B2

(A) 1 B) 3

(C) 4 (D) None of these / 38 & %15 7Tel

(E) Question not attempted / STTANT T

In a certain code, '256' means 'you are good', '637° means 'we are bad' and '358' means 'good and
bad'. Which of the following represents 'and' in that code?

Tl fifyma wie &, '256' @1 atef 'you are good', '6377 @1 31¢f 'we are bad' 3T '358" @1 a1ef 'good and bad'
T A1 IE BIs A BT 3% 'and' INATF 7

(A) 2 B) 5

© 8 D) 3

(E) Question not attempted / STTANT T3

In a certain code language, '123' means 'hot filtered coffee', '356' means 'very hot day' and '589'
means 'day and night'. Which digit stands for 'very'?

fordl Fifyaa ®rs smon & '123" @1 31ef 'hot filtered coffee!, '356' @1 atef 'very hot day' i '589 @t aref
'day and night' ¥ | @ SHI @i #To1 ¥ {69 siw &1 &7 'very' Fm?

(A) 9 B) 5

© 8 D) 6

(E) Question not attempted / STTANT T

In a certain code, ‘256" means 'red colour chalk’, 'S89' means 'green colour flower' and '245' means
'white colour chalk'. Which digit in that code means 'white'?

(A) 2 B) 4

© 5 (D) Can't be determined

(E) Question not attempted

Tl Tifyaa ®is o, 256" @1 a1ef 'red colour chalk', '589" @1 atef 'green colour flower' &R '245' @1 aref
'white colour chalk' ¥ | df I8 &I H fohd 3iw 1 aref ‘white' s ?

(A) 2 (B) 4
© 5 (D) Fraffa T8 fban s gaan
(E) - oT7aia e

18 @ O 10 P.T.O.



34

35

36

37

In a certain code language, '526' means 'sky is blue', 24' means 'blue colour' and '436' means 'colour
is fun'. Which digit in that language means 'fun'?

fopelt Tifyara ®is s / '526" @1 atef 'sky is blue', '24' &1 3tef 'blue colour' &7 '436' &1 a1¢f 'colour is fun'
T\ SHI Bis A ¥ fohg ofw @1 ot 'fun' BT ?

(A) 5 (B) 4

©) 3 D) 2

(E) Question not attempted / STTANT T

Pointing to a man on the stage, Rita said, "He is the brother of the daughter of the wife of my
husband." How is the man on the stage related to Rita?

(A) Son (B) Husband

(C) Cousin (D) Nephew

(E) Question not attempted

e U ferdlt =feRt l ST SR @ U, a1 = e, ‘a8 AL Uil bl Il @l Goil b1 W15 & He O SURE iR
&1 U & TS & 7

A (B) (wfq
(C) =&T e (D) e
(E) orgaiaued

Showing the man receiving the prize, Saroj said, “He is the brother of my uncle's daughter." Who is
the man to Saroj?

(A) Son (B) Brother-in-law
(C) Nephew (D) Cousin
(E) Question not attempted

JIEHT UT T & AR Bl fe@rd §, FUST « Hel, ‘T A 3ot %l I3l &l 9T © 1 38 TR & st § Fl
EECEA

(A) 3= (B) wET-gA-

(C) wchism (D) @ g

(E) orgaiaued

E is the son of A. D is the son of B. E is married to C. C is B's daughter. How is D related to E?
(A) Brother (B) Uncle

(C) Father-in-law (D) Brother-in-law

(E) Question not attempted
EEA®mISID,BHHASIERMEr CH g I C,BH NI DHEG e a5 &7

(A)d (B) sf®w
(C) wrET-ga-—at (D) seX-gA-4l
(B) o17aia g

18 @ O 11 P.T.O.



38

39

40

Seven men A, B, C, D, E, F and G are standing in a queue, one behind the other in that order. That
is, A is first in queue while G brings up the rear. Each of them is wearing a hat of a different colour
of the rainbow - Violet, Indigo, Blue, Green, Yellow, Orange, and Red, but not necessarily in that
order. It is also known that:

. D can see in front of him green and blue hats, but not the violet hat.
. E can see violet and yellow hats, but not the red hat.

. G can see hats of all the colours except Orange.

. E is wearing the Indigo coloured hat.

What colour hat is worn by F?

(A) Red (B) Orange

(C) Blue (D) Violet

(E) Question not attempted

g A, B, C,D, E, F 3T G Ux & 9% Tk 39 %A § Tk Ulea § T3 ¢ foh A uferd & veel W 9 & Siaf
G oY e @ U e | 37 99 H U o SRuY & = TN, 3, i, &30, 9, Tl i | and
21T Te @ ¥, Wik el Tl 6 WH wH ° & | A8 W B S AhAl & (o6

e D o o w0 ST i 21y 3w "ondn &, AfehT SIS A9
«  E S ofX dielt 2rdt S wehd 3, @R e 2t & |

o GG Il @B Bigw At AR ® 3w g 7|

o B gfem oy 2 ue i g 7

F =1 fope 41 1 211 vl 55 7

(A) e (B) =&
(C) i (D) S
(E) orgaiaued

Which letter is in the 125 position in the alphabet series AABABCABCDABCDEABCDEF...
frferiad ® & SF—a1 o1 T e AABABCABCDABCDEABCDEF. .. % 1259 ®M ux % 7
(A) B B) D

©) E (D) F

(E) Question not attempted / STTANT T

A wall clock shows that the time is 3.00 AM. What would be the time after the hour hand rotates by
135° from that position?

T A =gl 3.00 AM TR B 1 5 B g5 % 39 R ¥ 135° gA & I9amd 99d o1 B0 7
(A). 6.00 AM (B) 630 AM

(C) 730AM (D) 8.00 AM

(E). - Question not attempted / STTANT T

18 @ O 12 P.T.O.



Q. 41-45 : Read the passage and answer the questions that follow :

A and B’s three-year-old son, C, had been diagnosed with autism spectrum disorder a few
months ago. The parents are still letting the news sink in, meanwhile trying their hand at various
therapies. They are not yet sure what to expect from their child and what is the best they can do for
C’s betterment. One day, on his commute to work, A comes across a hoarding at a bus stop advertising
stem cell therapy as a cure for Autism at their clinic. Convinced with the umpteen testimonials on
the advertiser’s website, A and B decided to go ahead with stem cell therapy at the clinic despite the
fat price tags attached, unaware of the ethical and safety issues associated with the practice.
Unfortunately, C is not the only child at the altar of this experimental therapy. Many well-meaning
yet vulnerable parents who hope to find a cure for their beloved children’s condition are often soft
targets to this quackery.

Autism is a lifelong neurodevelopmental spectrum disorder that affects a person’s
communication, learning, behaviour, and social interactions. We still don’t completely understand
what causes Autism, but it is well known that there is no cure for the condition. Evidence-based
therapies can help the child reach his full potential and lead a fulfilling life. Despite all the information
and outreach, certain practitioners claim to magically cure Autism and lure innocent parents into
spending all their life savings on procedures that are not only scientifically unproven but are also
potentially harmful. Stem cell therapy is one such fad. Stem cell therapies aim at regenerating or
replacing cells damaged due to disorders and diseases through clinical and laboratory methods. But
such processes have only been approved for treating certain types of cancers and other blood and
immune disorders. For a complex condition like Autism, there is no strong evidence for approval of
its use as a ‘treatment procedure’. In fact, in the face of the skyrocketing number of stem cell clinics
and advertisements that claim to cure ASD, the National Medical Commission (NMC) has announced
that the use of stem cell therapy in treating Autism is prohibited, and its promotion and advertisement
will be considered professional misconduct. Although such steps by the regulator of medical conduct,
NMC, is commendable, the predatory marketing and unethical practice in unlicensed clinics will
continue to inflict emotional and physical trauma on individuals with Autism, especially on the
population that cannot either consent to the treatment or advocate for themselves with any degree
of conviction.

An attitude change in caregivers and families is needed to halt the expansion of stem cell
therapy in the Autism community as much as regulations and legal framework are needed. If we
closely look at why the stem cell clinics blatantly lie about the cure and even are audacious to put up
king-size banners in prime areas of metro cities, we will understand that they prey on desperate
parents who wish to find a cure for a condition that doesn’t need to be cured. There are stories of
parents who have sold their properties, spent their last pennies on stem cell therapy, and ended up
rupturing their entire family’s financial and emotional wellness. Needless to talk about the trauma
on the individual, his/her loss of prime years in life which could have been well utilised for his/her
development and independence through evidence-based practices.

Sometimes it is heart-wrenching to see families that have faced separation and conflicts in
the aftermath. If you are a parent or a caregiver supporting a child with Autism, the best gift you can
give your child is acceptance and love and not a cure. It is time that their neurodiversity is embraced.
Families must educate themselves about the spectrum and spend their time, energy, and resources
wisely in practices that are grounded in science. You can seek help from reliable organisations that
are vehemently trying to bring awareness about evidence-based therapies in parent communities
through their various online and offline programs. An empowered parent is the best asset that a
child ‘with autism can ever have. If you are willing to take a step towards an educated and safe
journey with your child, then say “No” to quack therapies and “Yes” to empowered and informed
decisions.

18 @ O 13 P.T.O.



41  Which of the following statements about Autism is borne out by the passage?

1.
ii.

ii.
(A)
(©)
(E)

It is an incurable mental disease requiring evidence-based therapy rather than stem cell therapy.
It is a physical disease that cannot be cured but could be managed using evidence-based

therapy.

It can be scientifically managed in a way that the patient achieves his or her full potential.
1 and iit (B) 1ii and iit

iii only (D) 1ii only

Question not attempted

42 Which of the following options is closest in meaning to the word “altar” as used in the passage?

(A)
(©)
(E)

Variation (B) Forefront
Mercy (D) Platform
Question not attempted

43 It is implied in the passage that

(A)

(B)

©
(D)

(E)

it is easy for quacks to lure gullible parents of suffering children into spending loads of money
for the treatment of their children because of the increased media outreach available in these
modern times for the former to advertise their services.

the NMC is only playing a passive role in educating and/or increasing awareness amongst the
parents of children suffering from incurable diseases due to which they fall prey to quackery
and not only waste money but risk their children’s lives.

The government needs to put in place the needed regulations to stop the spread of stem cell
therapy clinics in the country.

It is not necessary to subject a child diagnosed with autism to any treatment as there is no cure
for it anyway, and the condition only needs to be managed scientifically to the child to live a
fulfilling life.

Question not attempted

44  In the context of the passage “predatory marketing” specifically refers to

i
i
.
(A)

(©)
(E)

unethical efforts by unlicensed clinics to lure gullible parents to seek cures even for commonly
incurable conditions.

the practices adopted by unauthorised clinics to edge ahead of their competitors in the field
and grab maximum possible patients.

the act of employing advertising or marketing strategies in medical field due to the absence of
stringent enough regulations against the same.

i only (B) ii only

iii only (D) 1, ii and iii

Question not attempted

45 Which of the following statements about ‘evidence-based therapies’ implied in the passage?

i
i
.
(A)

(©)
(E)

18 @ O

These are meant to empower and inform parents of children diagnosed with autism spectrum
disorder.

Awareness about such therapies is apparently not as widespread as stem cell therapy which is
even being advertised widely to serve commercial interests.

Such therapies are any day better than stem cell therapy.

1 only (B) ii only

iii only (D) 1, ii and iii

Question not attempted

14 P.T.O.



46

47

48

49

50

S1

Arun rows from A to B against the current in 8 hrs. and from B to Ain 2 hrs. If the speed of the river
is 9m/sec., what is the speed of the boat in still water ?

TV ST & & e AT B d® 8 hrs o 3R B A A d% 2 hrs § A1d T@ran & | At 71 Y T Om/sec. &,
t R s/ # 1 @t 71 @@ e 7

(A) 10 m/s B) 15m/s

(C) 20 m/s (D) 25m/s

(E) Question not attempted / STANT T

A train travelling at 25 km/hr, leaves Delhi at 9 a.m. and another train leaves Delhi at 35 km/h.
at 2 p.m. in the same direction. At how many kms from Delhi do they meet ?

Teh T@ME! 25 km/hr & T & 9 a.m. 9T fielt @ epercll 31 U o= YTl g8 fesn / 35 km/h &Y 7ifd
¥ 2 p.m. X fewelt @ freperl 2| fawett @ fopas kms &1 g ax 9 T ?

(A) 437 km (B) 437.5km

(C) 438 km (D) 438.5 km

(E) Question not attempted / STANT T

A goods train runs at the speed of 54 km/hr and crosses a 110 metres long platform in 20 seconds.
What is the length of the goods train ?
Teh ATl 54 km/hr &) i @ el & 8T 110 H1eX @S Teh hiH @l 20 b W T B! & | HITE] 6l

WAE S BT
(A) 180 m (B) 190 m
(C) 200 m (D) 210m

(E) Question not attempted / STTANT T

P does ajobin 11 days while Q takes 12 days and R takes 22 days for the same job. P and Q started
working together. But, after two days they left and R had to complete the job. Find the number of
days required to complete the job.

(A) 46/3 days (B) 49/3 days

(C) 52/3 days (D) 55/3 days

(E) Question not attempted

P forelt @ @1 11 fom o e & wTafes 99 & &l &3 % g Q @7 12 ofit R &t 22 i @ 81 P 8fix Q
T G B BT JE B § | A, A 77 % 912 F 1t 8ig 30 T o R 39 & &l g0 e ¢ 1 et &f got
H & g fonas i &l srasaswa €2

(A) 46/3 = (B) 49/3 =
(C) 52/3f= (D) 55/3f=
(E) orgaiaued

A tap can fill a tank in 45 minutes and another tap can empty it in 3 hours. If both taps are opened
at 11:30 AM, then the tank will be filled by :

Th 9 Tohdl Tl bl 45 firie o 9T 9obal & ofX U% o - 39 3 °¢ o Wiell %Y gahdl §| IS |
11:30 AM W @t Sl &, Al 2o ohe o e w3 S 7

(A) 12:30 PM (B) 01:30 PM

(C) 02:30 PM (D) 03:30 PM

(E) Question not attempted / STANT T

In 36 hours, how many times will the hands of the clock coincide ?
36 51 #, P I Y o gt e 7

(A) 31 (B) 33

(C) 35 (D) 37

(E) " Question not attempted / 3TN T

18 @ O 15 P.T.O.



Q. 52-55

Read the given information carefully and answer the following questions:

(1) Eleven students Ravi, Vipul, Ketan, Jolly, Aabid, Salman, Dhara, Harlin, Nikita, Joy and
Vimal are sitting in a row of the class facing the teacher.

(i) Jolly, who is to the immediate left of Salman, is second to the right of Ketan.

(iii) Ravi, is second to the right of Aabid, who is at one of the ends.

(iv) Joy is the immediate neighbor of Ravi and Vipul and third to the left of Dhara.

(v) Harlin is to the immediate left of Jolly and third to the right of Nikita.
e &1 T T Bl Yde iey ofiX frefaiad usAl & sax ai:
() T famnedt <fa, faga, had, Siidl, offes, G@aH, 9, s, fiedr, i ok foma e dfea o wan

 firere &1 ST AT BhT TS B |

(ii) Scll, ST TAAH 6 S T3 ST 5, TE BT & IW & AU 6|
(iii) <fa, omfeg % 3¢ | @A 8, S TH BR T 5|
(iv) sita, T ofR foga & & o7 & ¥ o &m0 & 9d | |3 2
(v) &, St & 3 and ¥ &fi fferan % and & e ¥

52 Who is sitting in the middle of the row ?
(A) Ketan
(C) Vipul
(E) Question not attempted
U 6 HET § DI SOT © 7
(A) o
(©) faga
(E) g ued

53  Who is sitting at the left most end ?
(A) Aabid
(C) Jolly
(E) Question not attempted
T Y AT B T A Ao B 7
(A) st
(C) St
(E) " argai ued
18 @ O
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(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

Nikita
Dhara

Ketan

Cannot be determined

Trenfya &1 fomar <1 g

P.T.O.



54

5§

56

Which of the following statements is true in the above seating arrangement?

(A) There are three students sitting between Jolly and Dhara.

(B) Dhara and Ketan are neighbor sitting to the immediate right of Harlin.

(C) Vipul is sitting between Joy and Nikita.

(D) Vimal is sitting between Ravi and Joy.

(E) Question not attempted

frrafefad & 9§ -1 B SUa T B ARM F I A TAF?

(A) el ST 9T &% 99 ¥ O fenedf §6 1 (B) 9T SfX ha, Bt % 31 218 S § 96 ¥
(C) fagm, sira oiX Fiferen & S/ 9 521 8 (D) feome, T SR 5 & S o o1 2

(E) orgaiaued

If Aabid and Jolly, Ketan and Vipul, Ravi and Harlin and Vimal and Salman interchange their
positions, which of the following pair of students is sitting at the end?

(A) Jolly and Aabid (B) Aabid and Salman
(C) Jolly and Vimal (D) Vimal and Salman
(E) Question not attempted

gfs offeg ST STel, o ofiX fage, T o 3fd ofik fom ofk T@™ ™ ofud § 8T &M 95 @, af
feenRizt @1 Feafafea & @ s A BR W T3 8 ?

(A) STl 8fR amfe (B) onfE ok e m
(C) iiel 3T femat (D) fome iR g@w™
(E) orgaiaued

Find the related word from the given options.

Disease : Death :: Quarrel : ?

(A) Justice (B) Victory

(C) Peace (D) Restlessness
(E) Question not attempted

faq Tq feremedi § ¥ Wl ot T IS

T qg = el : 7

(A) = (B) fewra

(C) srifa (D) ergifa

(B) orgaia ued

18 @ O 17 P.T.O.



Q. 57-61

57

Four families decided to go for a picnic to Jhumri Talaiya and agreed to meet at a place called Rani
ka Talab before moving for the picnic. One family has no kid, while the others have at least one kid
each. Amongst each family with kids, at least one kid goes to the picnic. Following is the information
about the families.

(1)  The family with two kids came just before the family with no kids.
(i1)) D who does not have any kids reached just before C’s family.

(iii) P and his wife reached last with their only kid.

(iv) Qis not B’s husband.

(v) Qand S are fathers.

(vi) C’s and A’s daughters go to the same school.

(vil)) B came before D and met A when she reached the fixed place.
(viii) R stays farthest from the place and he is a good singer.

(ix) S explained that his son could not come because of exams.

TR ARER P e 7 e T @ o o € S fUese ar e & I T @ JrrE A
I T A X 2 1 3H 9 Ue UE & S el o, Steieh 8T UNan! &1 %H § BH U Sed1 § | T arlt
Il o § B9 9 &Y U ST {Uehiieh S & | IIam) & I | ST M=Rad 8|

(i) 3 FeEi g giER, & st 9 afEr % e Ted ST §

(i) D foren #iE Tea T2 ¥, a8 C % uan & 3% s ugad ¢ |
(iii) P ofR ST Tl 1O 3ol Ted b WY Sfd § Yo ¢ |

(iv) Q, B o1 ufq 72 ¥

(v) Qe Sfmre

(vi) C 3T A @I ghal us 81 & 9 2

(vii) B, D ¥ 9 o1l & o A ¥ freran &, 919 98 fod e oY wgadl 2 |
(viii) R 39 M ¥ TS g @Al 5 3% I8 37T TS o |

(ix) S aman & & SHel g TUe e A I9IE § ol S G |

Who amongst the females arrived third?

Al & A A e T e ?
(A A (B) B
(C) ~C D) D

(E) Question not attempted / STTANT T

18 @ O 18 P.T.O.



58  Which is the correct pair of husband and wife?
(A) SandD (B)
(C) QandC D)
(E) Question not attempted
i BT Tl BT HEl I DA § 7
(A) S&RD (B)
(€) QsirC (D)
(E) g ued

59  Whose daughters go to the same school?
(A) QandR (B)
(C) PandQ D)
(E) Question not attempted
forgant ghrl U & e | SR @ ?
(A) Q&R B)
(€) Pa&iRQ (D)
(E) orgaiaued

60  Whose family has definitely more than one kid?
fore afEm & uw 9 st s & 7
(A) R’s (R%) (B)
©) Qs(@Q%) (D)
(E) Question not attempted / STTANT T

61 Among the males, who arrived second?
TEu ¥ | TEU B qga
(A) P B)
© R (D)
(E)-Question not attempted / STTANT T

18 @ O 19

Pand C
Sand A

PR C
SR A

P and R
Qand S

P sik R

Qa3 S

S’s (S &)
P’s (P %)

P.T.O.



Q. 62-64
Read the following information carefully and answer the questions given:
In a joint family of seven persons L, M, N, O, P, Q and R, two are married couples.

“R” is a housewife and her husband is a lawyer. “N” is the wife of “M”, “L” is an engineer and is the
granddaughter of “R”, and “O” is the father-in-law of “N”, a doctor , and father of “P”, a professor.
“Q” 1s L’s brother and M’s son.

frrafeTRad STM@Td & SamYde qiey ST A g 77 9t & 30T ST

ara @@l L, M, N, O, P, Q ik R & @ga ui@r # af faenfza s €1

“R” feull & o sda! ufd Faid 51 “N”, “M” &1 Il 5, “L” FSitat & & “R” S AR g, ofik “0” “N”
(ETFY) BT TG SR “P” (ER) &1 fUar 81Q”, L &1 w1g 3k M &1 g3 51

62 How is P related to M?

(A) Son (B) Brother
(C) Daughter (D) Data inadequate
(E) Question not attempted
P& M & & €64 87
(A) o (B) v
(C) = (D) e T2
(E) g ued
63 How is Q related to O?
(A) Grandfather (B) Uncle
(C) Grandson (D) Data inadequate

(E) Question not attempted
Q& O ¥ 1 §9Y &7

(A) =t (B) =
(C) dran (D) s9Erd
(E) g ued
64 Who is M’s father?
(A) O (B) R
(C) N (D) Data inadequate
(E) Question not attempted
M @l o i 87
(A).. O (B) R
(C) N (D) eroaf 30
(BE)- i ued

18 @ O 20 P.T.O.



Q. 65-69

65

Study the following information carefully to answer these questions.

All the streets of a city are either perpendicular or parallel to one another. The streets are all straight.
Streets N, O, P, Q and R are parallel to one another. Streets S, T, U, V, W, X and Y are parallel to one
another.

(1)  Street Nis 1 km east of street O.

(i)  Street O is Y2 km west of street P.

(ii1) Street Q is 1 km west of street R.

(iv) Street S is 2 km south of street T.

(v) Street Uis 1 km north of street V.

(vi) Street W is Y2 km north of street X.

(vii) Street W is 1 km south of street Y.

frreafeTRad STl SYE® Ufey iR e &g g 0ei & Sax STy |
STET B AT Hedh Ts TEX & daad 91 GUHia ¢ | g gsd @ell §19s& N, O, P, Q 3R R t6-g@ &
T ¥18s® S, T, U, V, W, X 8fR Y Toh—q8} % FHMia &1

(i) TWHEN,TTHOFIIH 1 kmF)

(i) @eH O, TsH P & ufyaq o 142 km ¥

(iii) Te® Q, sH R & ufmm & 1 km ¥

(iv) @e® S, dsh T & s & 15 km %)

(v) 9% U, 9% V& I H | km &l

(vi) @gH W, Ts® X & 3atH % km 3|

(vil) Tz® W, Ts® Y & sraur® 1 km¥)

If W is parallel to U and W is %2 km south of V and 1 km north of T, then which two streets would
be 1.5 km apart?

(A) Uand X (B) VandS
(C) VandT (D) WandV
(E) Question not attempted

FREW USRI E IR W, VE R Lkme iR TH SO ® 1 km %, df *H-91 &1 98 1.5 km
gL Y

(A) UsinX (B) VxS
(C) VaRT D) WaRV
(E) or7aia ued

18 @ O 21 P.T.O.



66

67

68

69

70

Which of the following possibilities would make two streets coincide?
(A) Xis ¥ km north of U (B) Pis1km west of Q
(C) Qis ' km east of N (D) Ris Y% kmeast of O
(E) Question not attempted

frfered & @ SF—a1 GHrEATd & ged! & A SO 7

(A) X, Ussaxd %km¥) (B) P, Q% ufymm® 1 km 3|
(C) QNHFTEH %kmzI (D) R, OFEH Yxkm3)
(E) orgai 9ed

If street R is between O and P, then distance between N and Q is:
g Ee® R, O R P H A= # 3, @ N &iX Q & I/ &I T T STy |
(A) Y2km (B) 1km

(C) 1.5km (D) 1.5-2km
(E) Question not attempted / STTANT T

If R is between O and P, then which of the following is false ?

(A) Qis 1.75 km west of N (B) Pisless than 1 km from Q
(C) Risless than 1 km from N (D) Qs less than 1 km from O
(E) Question not attempted

Y R, O AR P& S ¥ %, af fr=iferiaq & A s—ar sraa & 7

(A) Q,N&ufygm & 1.75 km 31 (B) P Q¥ 1kmd ®q 3T
(C) R NI 1kmd¥ &H ¥ (D) Q,0¥1km¥®HH T
(E) orgaiaued

Which of the following is necessarily true (given the basic clues)?

(A) R and O intersect (B) Qis2km east of O
(C) Qisat least 2 km west of N (D) Y is 1.5 km north of X

(E) Question not attempted
frafafaa & § -8 a9 €9 9 94 § (0 9hd Ru Mg E) ?

(A) R & O ufeesfea ¥ B) QOFTWH2km3|
(C) Q,N & ufyad & &9 ¥ &7 2 km 7| (D) Y, X&IaH 1.5km?|
(E) oraiausd

Which of the following pair of number is different from other ?
Mg i g s e deT g g a =8 7

(A)«13:91 (B) 17:119

(©) 19:131 (D) 23:161

(E) Question not attempted / STTANT T

18 @ O 22 P.T.O.



71  Find the next term of the given series.

& TS ST BT STAT UG ST DI |

6.25, 6.3, 6.4, 6.55,6.75, 7

(A) 6.8 (B) 6.85
(C) 6.95 (D) 7

(E) Question not attempted / STTANT T

72 Select a figure from amongst the answer figure which will continue the same series as
established by the question figures.

IO Al § W T THT BT BT T4 HIfeTd ST U9 Tehfadl § WIiua Sar Bl Sl @ 9o |
Question figures / 97 il

@)

(@)

@)
(@)
(@

Answer figures / T Srpfaal

= =
w | O () g
SRS, o | O

(E) Question not attempted / AN T

73 Ifhouse is called market, market is called bank, bank is called hospital and hospital is called
post office, then where do we go for shopping ?
(A) market (B) bank
(C) hospital (D) post office
(E) Question not attempted
i B B! IR HeT STl &, SR B S Bel ST §, S Dl ST Hel STl & qT ST b
STHET Bel ST 5, Al 89 UG HTT el oI & 7

(A), X (B) %
(C) A (D) =r®Er
(E) - oT7aRa e

18 @ O 23 P.T.O.



74

75

76

77

If TABLE is coded as UBCMEF, then in the same language CHAIR will be coded as -
gt TABLE @1 &te UBCMF 2, a1 @l o & CHAIR T e 81N —

(A) DIIBS (B) DIBJS

(C) DIBRS (D) DICKS

(E) Question not attempted / SFTANT U

Pointing to a woman a girl said, "She is the daughter-in-law of the grandmother of my
father's only son." How is girl related to woman ?

(A) Mother (B) Daughter

(C) Cousin (D) Daughter-in-law

(E) Question not attempted

% AfSAT B T® 9T A TF @SH! 7 Hel, ‘T8 A TUG1 & swaid g7 &I IET Bl
& | TASHI Bl Al A RTERT S 7

(A) =t (B) g
(C) ==l w7 (D) s§
(E) orgaiaued

Read the information given and answer the question.
"PxQ' means 'P 1s father of Q'.

'P—Q' means 'P is sister of Q'.

'P+Q' means 'P 1s mother of Q.

P+ Q' means 'P is brother of Q'.

In the expression A + B x C + D, hows C related to A ?

(A) Son (B) Grandson
(C) Granddaughter (D) Daughter
(E) Question not attempted

<1 TS G %I T6HT U7 Bl S Al |

PxQ @ Fd B, P, Q @ e ¥
P-Q@&Hards, P QoI |
P+Q @ g 3, P, QB AT 3 |
PQ®maAds P Q& as & |
daB A+BxC+ DA CHAS I R IEY 8 ?

(A) S (B) g

(C) g (D) ¥&

(E) orgaia v

If Priya 1s the sister of the son of Rahul's son. How 1s Priya related to Rahul ?
(A) Mother (B) Daughter

(C) Granddaughter (D) Niece

(E) -~ Question not attempted

i Tran, Wgd & 4 & 52 & 98 &, Al U1, Ugd o fohg TR d@afdq & 7

(A)sHrar (B) g
(C) o (D) s
(E) - oT7aRa ued

18 @ O 24 P.T.O.
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79

80

81

82

In an examination, a student scores 4 marks for every correct answer and loses 1 mark for
every wrong answer. If he attempts 70 questions and secures 135 marks, the number of
questions he attempts wrong, is

e IO o, T femelt &) udis 98 3O & 4 3 [ ST & 91 e Ted 9} & 6 1 3 &q
T AT ST ¥ 1 AfE g% 70 99T B BT § SN 135 3ie U HIAT ©, AT I6 Fba WeT e Ry
(A) 21 (B) 29

(C) 35 (D) 41

(E) Question not attempted / STANT T

In a group of 1292 persons consisting of captains and soldiers 1s travelling in a train. For
every 16 soldiers there is one captain. The number of captains in the group is -

1292 =fal &1 U Te STaw o< ST 4 o &, T (@ | I &L @l & 183 16 dFet &
g U% & & | 9 | el ol e —

(A) 76 (B) 78

(C) 80 (D) 81

(E) Question not attempted / STANT T

a+l 1 ‘
If —5— = 7, then the value of a 1s -
a’-1 5

a+l 1
a2_1=§,a“raao‘rm=r%—
(A) 5 (B) ©
1
(€) 4 O 7

5
(E) Question not attempted / SN T

From the following, choose that which 1s different from others.
(A) Pear (B) Apple

(C) Guava (D) Orange

(E) Question not attempted

Freforfia & & 58 &1 gRIT ST ST & P 3
(A) ey (B)
(C) emeg (D) &

(E) orJaiausd

Find the mirror image of the given figure.

2 5 ST &1 T wfafer s Sk |
234E

@ STH ® pTL
© ¢€¥ o pEL

(E) " Question not attempted / STTANT T

18 @ O 25 P.T.O.



83 Replace the question mark sign (?) by observing the pattern.

o @l TEd g U fag (7) @i fawentua aifeg |

(A)

(©

(E) Question not attempted / STTANT T

84 Choose the correct mirror image from answer figures of the given figure.

& TS ot % T TR ampiat ¥ ¥ wwged afur widfa g o

Answer figures (I 3Tl

(A)

(©)

(E)..Question not attempted / STTANT T

18 @ O

O

© B @ -
@ (B)
@ (D)

(B)

(D)

26

D

&D

P.T.O.



85

86

87

88

Find the odd one -

T @1 3a Bt —
(A) 36 (B) 49
€) 121 (D) 1000

(E) Question not attempted / STTANT T

In the given figure going from P to Q only on the lines and taking the least length of path, in
how many way one can reach ?

o T fomr o R et T EH ¥ HH U ¥ I g9 P ¥ Q % [ WK § Ugd G & ¢

P
Q
(A) 2 (B) 4
€ 6 (D) '8

(E) Question not attempted / STTANT T

A man 1s performing yoga with his head down and legs up. His face is towards south. In
which direction will his right hand be?

(A) North (B) South

(C) East (D) West

(E) Question not attempted

T AR ST R A AT 3T FIX S ¥es AN &1 (@1 & | SHHBI @ 310 Bl ST & | SHeT i &1
forg faom o BRT 7

(A) I (B) zferer
C) w (D) wuiyaw
(E) orgaiaued

Aditya walks 50 meters toward West. He turn right and walk 50 meters. Then he turn a left
and walks 50 meters. Now, Aditya is in which direction from the starting point ?

(A) North-East (B) North-West

(C) South-East (D) South-West

(E) Questionnot attempted

s 50 Hiex aiyed &I X% aadl & | 98 IR 31 9T & 3K 50 A 9edl & | 319 9% S/l 3
Toa0 & S50 HeX Tear ¢ | 3, e TRiwe 45 ¥ fog R 5 7

(A)s FT-—gd (B) STX—uiye™
(C) siaor-—qd (D) <feror—afyem
(E) . oT7aia e
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89

90

91

If 13 + 5=6 and 34 + 8 = 14, then the value of 8 + 7 1s —
g 13+5=63R34+8=14, a8+ 7 HI AN & —

(A) 3 (B) 4

©) 5 (D) 7

(E) Question not attempted / STTANT T

Solve the following problem and choose the correct option.

FreieTiac TH e @l B SIS TAT Tl {ehed &1 =a- By |

=D _,
3
Mzs
2
r-£_,
5
(A) 3 (B) 4
(€ 6 (D) 7

(E) Question not attempted / TN U

Four people were painting a house. Mohan and Kishan were painting on front and back
sides respectively. Napit and Raj-were painting on the left and right sides respectively, on
seeing from the front. After 2 hours, Mohan replace Raj, Raj replace Kishan and Kishan
replace Napit. Now who is at back side?

(A) Mohan (B) Kishan

(C) Napit (D) Raj

(E) Question not attempted

TR AT T B IR U2 %Y @ & | Hied a1 [oheT HasT: 9 q¢1 U & fon 4 42 &3 ® & | 1d
AT T HHLT TR qAT SR fE9 (A § TN R) UX U B W@ 91 2 ©E 918 WE J TS @I, T A
TR 1 T Toper < I o1 2 o fofam | o19 Sargd die &l aX® HiF & 7

(A) s (B) fpem
(C) Sftr (D) T
(E) o17aia e
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92

93

94

Select the figure which fits exactly into the given figure to form a complete square.

SFRT B g s & S et ¥ gt fhe et uw ot of s=m &

M

N
(A) (B)

(© \]\l_ (D)

(E) Question not attempted / STTANT T

Select the alternative in which the specified components of the question figure are found.

39 Tame @1 Toe Sifey e o T T amfa & fafde aee frea st

1 @4]

ASH

S 4 <o “h

Tl AT
(A) 1 (B) ® <

& S

OA T
(€) Pl ® 4 A

(E) Question not attempted / STTANT T

If the following figure is fold to form a cube, then which symbol will be opposite to @ ?
s Frfriad Sl Bl AeHT U B9 a7 SMY, @1 @ % [q9iq i a1 fagd e ?

$ | # X

X ﬁ =

(A) B) $
C) # (D) T
(B) - Question not attempted / STANT T

18 @ O 29 P.T.O.



Q. 95-97

Study the following informations carefully and answer the questions given below it.

Alok and Parth like tea and milk, Deepak and Aditya like coffee and shake, Vijay and Parth
like juice and milk. Aditya like coffee, milk and shake, Deepak like tea, coffee and juice.

frrafarad gaametl & mYds qfeq q&7 e &T T 99 % I g |

AT ST UTef I AT 34 THE B ¢ | 419 ST S BT TAT 91 THE Bdl & | o7 Si uref sp@
TAT Y THE B & | S BIBI, TH TAT o THE BT & | GI% 1, BI%T QT S8 T6S BT & |

95  Which of the following do not like milk ?
(A) Parth (B)
(C) Aditya (D)
(E) Question not attempted

frrafarad o | & g8 T6E ol BT 8

(A) e (B)
(C) onfew (D)
(E) orgaiaued

96 Which of the following do not like juice ?
(A) Vijay (B)
(C) Aditya (D)

(E) Question not attempted

frrafarad o | & S 76 Tel BT s 7

Deepak
Vijay

Parth
Deepak

a1

Parth

(A) foorg (B)
(C) onfea (D)
(E) orgaiaued
97 Who like tea, shake, juice and coffee but not milk ?
(A) Deepak (B)
(C) Aditya (D)

(E) Question not attempted

Vijay

BT A, 9%, ST AT B! THE HIAT & g 34 Tel 7

(A). < (B)
(C) e (D)
(B) o17aia ued
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98 Which of the following group of numbers 1s similar to (3, 13, 23) ?
Frafafas & & & @ e s (3, 13,23) F 9§ 7
(A) (5, 15, 25) (B) (7, 11, 15)
(©) (9,19,29) (D) (11, 17,29)

(E) Question not attempted / STTANT T

99  Choose the correct alternatives.
Teacher : Education :: Farmer : ?
(A) Field (B) Crop
(C) Plough (D) ' Irrigation
(E) Question not attempted
eI fqehed &1 g BIfT

areaTaes : fare o fRET ;P

(A) @a (B) wa@
(C) =@ aam™T (D) =
(E) orgaiaued

100 Select the appropriate number from the given alternatives :

et T ferpedt 3 @ g oi g -
M xN:14 %13 =G x V: ?

(A7 %22 (B) 22x7
(C) "8.x 21 (D) 21x8

(E) Question not attempted / STTANT T

18 @ O 31 P.T.O.
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